Puissances de Dix (F)

Trouvez chaque produit ou quotient.

59+ 0,001 = 7,7 +0,01 =
1,08 - 10 = 9,1083 X 10 =
2,77 X 1= 5,2202 x 100 =
6,66 ~ 100 = 6,3+ 1000 =
6,46 X 1 000 = 2,94 +1=

6,88 X 0,1 = 58-+0,1=
1,292 x 0,01 = 45x10 =
1,1421 x 0,001 = 6,96 X 100 =
6,46 X 0,1 = 4,353 x 1=
5,4985 + 10 = 2,6 +01=
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Puissances de Dix (F) Solutions

Trouvez chaque produit ou quotient.

590,001 =5900

1,08 +-10=0,108

2,77 X1 =277

6,66 +~ 100 = 0,0666

6,46 X 1 000 = 6 460

6,88 x 0,1 = 0,688

1,292 x 0,01 = 0,01292

1,1421 x 0,001 = 0,0011421

6,46 X 0,1 = 0,646

5,4985 + 10 = 0,54985

7,7+0,01=770

9,1083 x 10 =91,083

5,2202 x 100 = 522,02

6,3 +1000=0,0063

2,94 +1=294

58-+0,1=58

4,5x 10 =145

6,96 X 100 = 696

4,353 X 1 =4,353

2,6 +0,1=26
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